Cadet College Larkana
Admission to Class VIII
Sample Paper

CONTENTS

S.No | Subjects Marks Page No
1. English 50 2
2. Mathematics 50 4
3. MT Urdu (For Urdu Medium) 6
& 50 &
MT Sindhi (For Sindhi Medium) 7
4, Islamiat 15 9
5. Elementary Science 15 10
6. Social Studies 15 11
7. General Knowledge 05 12

Grand Total: 200



, Eé’é\i CADET COLLEGE LARKANA

_. ENTRY TEST
N ' ADMISSION TO CLASS VIII
. iz SAMPLE PAPER

SECTION-I Subject: ENGLISH

Max Marks: 50

Q.No.1 Choose the correct answer from the following:
(1) All the students entered the school gate in a

(a) Rikshaw (b) Bus (c) Coach
(2) All the students get the van.

(a) with (b) away (c) off
(3) T have my homework today.

(a) Submit (b) submits (c) submitting
(4) Moenjodaro was built in the century BC.

(a) 25 (b) 26 (c) 27

(5) The Nindwani settlement was built on a
(a) Rock (b) Heavy rock (c) Flat rock

(6) Which city is known as “City of cut stones”?
(a) Multan (b) Taxila (c) Rawalpindi

(7) T have many pictures. These pictures are all
(a) Mine (b) Yours (c) His

(8) Zubair and his mother were lying on the .
(a) bed (b) Cot (c) Log

(9) Masculine of “fox” is .
(a) Foxen (b) Ram (c) Vixen

(10)  One who knows everything is known as
(2) Omnipotent (b) Omnipresent (c) Omniscient

(11)  Her eyes glittered like a .
(a) gold (b) diamond (c) pearl

(12)  Word “energetic” is .
(a2) Noun (b) Adjective (c) Pronoun

(13)  Ali was very excited to attend his class of
(a) English (b) PS (c) Science

(14) Ms. Sana showed them posters on
(a) Pollution (b) Cleanliness (c) Water

(15) Bachal went to .
(a2) Union Council (b) Police Station  (c) Hospital

(16) King of fruit is
(a) Apple (b) Orange (c) Guava

(17) ‘Takht-e-Bahi’ is in:

(a) Sindh (b) Punjab (c) Gilgit Baltistan

(18) Taxila was built in
(a) 2000 BC (b) 1000 BC (c) 500 BC

25 Marks

(d) Queue

(d) about

(d) submitted

d) 28

(d) None of these

(d) Ranikot

(d) Hers

(d) None of these

(d) None of these

(d) Omni powerful

(d) ring

(d) Adverb

(d) Sindhi

(d) Rain

(d) Home

(d) Mango

(d) KPK

(d) 300 BC



(19) Indefinite Article is

(@) a (b) an (c) the (d) None of these
(20) Past participle of “Go” is

(a) Went (b) Gone (c) Going (d) Go
(21)  The largest fish found in the seas is .

(a) Jellyfish (b) Whale fish (c)Both A & B (d) None of these
(22) Plural of Ox is )

(a) Oxes (b) Oxen (c) Both A & B (d) None of these
(23) The one who treats the patients by

(a) Teacher (b) Carpenter (c) Barber (d) Doctor
(24) The one who flies aero plane is .

(a) Driver (b) Hijacker (c) Pilot (d) None of these
(25) The ancient city of Bhambhore is located in district.

(a) Hyderabad (b) Larkana (c) Sukkur  (d) Thatta

Q.No.2 Fill in the blanks 15 Marks

(1) Adjective of word ‘Gift’ is
(2) The word ‘much’ in parts of speech is
(3) ‘Harrapa civilization’ is situated in KPK province (True/ False)
(4) Feminine of word ‘peacock’ is
(5) ‘Dozen’ is noun (Type of noun)
(6) A group of soldiers is called
(7) ‘Joint family’ means
(8) Avoid bathing or walking in ﬂoodwater (True/False)
(9) I read interesting articles.
(10) The train the station.
(11) Takht-1-Bahi was built in BC.
(12) Gardener has worked here for years.
(13) Noun is word.
(14) Harappa was built around BC.
(15) We were served a tea and biscuits.
Q.No.3. Write an Essay on any one of the following: 05 Marks

(1) Value of Cleanliness
(2) Dangers of Pollution
(3) Effects of Heavy Rain
(4) My School Library
Q.No. 4. Write an application to the Headmaster/Principal of your School/College; and request

him arrange a tour of your class to a historical place. 05 Marks
-OR-
Write a letter to your friend that you qualified Entry Test for admission in Cadet College

Larkana.



SECTION-II

Subject: MATHEMATICS

Max Marks: 50

Note: Calculators are not allowed

Q.No.1 Select the correct answers in each of the following:
AT DT - =y SR pus § 1o

25 Marks

32 Bl 2 Clsr o b Gt 1 el I

S.No | Question a b C d
_ (AUB) (AuUB)
01. [AU(BUC)= ANn(BNC) |An(BUC) AC UC
02. |[A-B—————— B—-A = * ~ =
03. |S=labc} & M=ldefl=S5-M 0 defl | fabc |{abcde,
og, |STlabeh & M=ldenn=s0M 0 (deft | {@be} |{abecde
05 |S=labc) & M=ldef,=SuM 0 defl | fabe |{abcde,
06. |U={123,..,10},0 ={24,6810} = Q' =—— | {1,3579} | {1,234} |{24,6810} All
07. |/ =————— )] U U’ None
08. Venn dlagramzvisttroduced in———— 1681 1781 1881 1981
09 7 3 2 7 17 27 37
|4 8 3 24 24 24 24
2 3 1 6 2 1
10, |=X=X—-=—————— — — — All
3 5 4 60 30 15
15 15 13
11. . . . . _ . : v _ O 1
The multiplicative inverse of — is 13 1c
|5 (-5)- ; 1
|77 7) = 0 76 -
7
2 4
14, —+<——)= ——————— 2 2 _1 _2
5 5 2 5
a c ac a b ac
15, |-+ =-=——— e Z e haad
b d bc b d bd
3
16. 5 = = \Z 3.75 37.5 0.375 0.0375
10
17. e N 90.90 9.090 9.9090 0.9090
18, | 2=—-—— 1.25 12.5 0.125 125.00
2 4 -2 2 6 -6
D oo el
7 7 7 7 7 7
2 4 -2 2 6 -6
[ = O @@ 6
7 7 7 7 7 7
21. |A'= A-U U-A v’ A
22. | 2°+2°= 2° 2 2° 2°
23. |a*+a’= a' 2a’ a® 23’
24. |a—(b-0)= a-b-c atbh-c a-b+c atb+c
25. |a(a+bh)= a+ab a’+ab a’ + b’ a’ + a’h?




Q.No. 2 Fill in blanks LI U= e wn e 15Marks
1 {1)2)3} U {51617 } = - =
3. |{2345}n{1,23}=—————
s |2y (E _ l) o _

7 4 2
5 [{234}-{24}=——-————
6. |A=0andB=¢ = (AUB)=—— ——
7| 2o

16
7

8. — =

3 4

6 5
9. |-+ ()= — — — — — —

3T ( 3)
10 E - E - - - - — — —

9 3
1. | 20+21+22 = — — —— —
12 [\V144 = — — — — — — _
13. | 5% = — — — — (In Fraction)
14, |3+3-3x3+3=———————
15 |3+-0=—————
Q.No:3 Attempt any two questions YR N | P = 10 Marks

Q/J‘)dl/»(f'{éf

LIf U = {1,2,3,4,5,6,7,8,9,10},
2.Factorize : (i)a? + 6ab + 9b?

3.5olve (x+2)(x+3)=(x—3)(x—2)+ 20
4.Solve 5(6 —3 +9)

A={1,2345}and B = {3,5,7,9} find (AN B)
(ii) 5a%®x — 15a



SECTION-III

Subject: M.T Urdu (For Urdu Medium)

Max Marks: 50

Jhzs

Gl ol () GhEh@) GrEi(e) (e
e @y e Jrdh

d')]‘L (=Jh

-és._at?" (@Uic/u -1/J|)’
At Le et ld (h
LT TSI

_&olze (db]- (€))

E@) () P e Gl 214 ot

St i) il (o

=2 ()
VIO ()

S

S 00 Dray  Ireo
wl0) i) W
eaper () eE@® ()
e lelf () ) =Ll (&)
ORI W (o)
el A ()
P10 F@ £ ()
220 B ()
SR 0) JFe wteo
O 8(e) ()
& F p’”d‘;(e) JE P o
90) 8 ()
g U () S
S01 () () 06 ()
O A7) W (<)
20 e o
U ) e (&) )
deei P4 ()
LTS e

it

CT))

LS Lo (o) BB (e

—wls (Jl}’}iﬁ)-(5)
U r”‘q.apn'/"/‘- SANIRG)

S (< (T VNG
PIT) IS L Jol (8
{M ) S U U9
sl (<) 4.{5"‘_}/,»6‘13}’-(10)
3 (e focimmeee e de Ut
Jhcedhy P Pk e S
b () S e J?d/('ﬁf » -(3)
2 (2 _un A )
JUs (e I« pd Sl (15
6 (e eI B S H” (16
o Peady  pf e n S i L Pl (7
6 (= Y PP wﬁ.q/léuwfj-ds)
) WP (RS B 3y Je (” -(®
NANET))) —aws b 6N _(20)
ALty (ool D g YW 947 (21
Py (e P NG Wer5
£ e o bu s ----(J’; Lbz_syi_(23)
DR VAT Y D
S el (o) JC”/ (=N
Whe s b L Ji (g/ ez i 25
M ) S (<)
L 2
S T S wpde o By i o(h
-”Lfrw:‘o( .................. Ll LI ks Y2
DI B o N e
Y1 S e de i 0
b SIS h sl pU-(5)
-Lc‘irﬁdfﬁ ........... 21056
Y S S o) O f o ()
e K 6 _(8)
U2 P d/uii.JLQlﬁ‘ <.



bl SRS (réu;:/.(fo)
-%(&.M’jw{ké ...... SIS )

e lnef L Aol oy gl (12)

B o -(15)

ot v L Eud -

ST ATNY U7 P A 136 J@er -(15)

JLos Lo 1 Al et B 34
A HHIEP _pegiedJi b g,fld/w,fk]- HL G

Slos U 2T e S PSS St S i I L5 b 4y

L.
S s o3 Gy I S Lsie

SECTION-IV  Subject: M. T Sindhi (For Sindhi Medium) Max Marks: 50
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SECTION-V (A) Subject: ISLAMIAT

Max Marks: 15

Q. No. 1 Choose the correct answers of the following:

1. There are ........ pillars of Islam:
a. 2
b. 3
c. 4
d. 5
2. Zakatis aworshipof ............:
a. Wealthy
b. Bodily
C. Soul
d. Thinking sense
3. Wesent ........... to every nation :
a. Apostles
b. Angels
C. Friends of Allah
d Teachers

4. We have created Jins and Humans
for :

a. Namaz
b. Zakat
c. Worship
d. Earn
5.Duaisawordof .......... language ?
a. Arabic
b. Urdu
C. Persian
d. Sindhi
6. The meaning of word Baseer is :
a. One who sees
b. One who listens
c. One who speaks
d. One who thinks
7. Zakatisawordof ....... language:
a. Sindhi
b. Urdu
c. Arabic
d. Persian
8. Tayyaba means ...............
a. Purify
b. Un purify
c. Right
d. Wrong
9. Makkah was conquered in AH:
a. 4
b. 6
C. 8
d. 10

10. There was thousand army
of Muslims during conquest of Makkah:

a. 8

b. 10
C. 12
d. 14

-éb‘at‘?t €l 14l
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Q.No.2 Fill in the blanks

1. By profession Hazrat Idrees (AS) was

2. Hazrat Nooh AS was by
profession.

3. Purification is the part of

4. Rights is the plural of

5. Relation breaker will not enter in the
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SECTION-V (B) Subject: ELEMENTARY SCIENCE

Max Marks: 15

Q. No. 1 Choose the correct answers of the following:

1. Where the chemical digestion of

LE_EIE nes 14

10 Marks

3 x Pz o 1 pd g

Proteins start?

a. Stomach b. Mouth
¢. Small intestine d. N.O.T
2. The process in which living
organisms increase their number is
known as:

a. Digestion

b. Respiration

c. Reproduction

d. None of these
3. Pollen grains are located in:

a. Anther

b. Pistil

C. Petals

d. All of these

4. Zygote forms after the fusion of
different:

a. Embryo

b. Gametes

c. All the body cells
d None of these

5. The interaction of living organisms
with each other and with environment
is:

a. Ecology
c. Habitant

b. Ecosystem
d. Food chain

6. A place of living according to
particular environment of living things

is:
a.Ecosystem b.Habitat
c.Temperature  d.Ecosphere
7. Area where river meet with sea is:
a. Fresh water  b. Marine Water
c. Estuarine d. Stationary water
8. Area below ice cap have very cold
climate:
a. Forest b. Desert
c. Grassland d. Tundra
9. The food chain starts from:

a. Primary consumers

b. Secondary consumers

c. Producers

d. Decomposers

10.The symbol of Chlorine is :
a.C b. Cl
c.Ca d. None of these
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Q.No.2 Fill in the blanks:

from heart through

3.The . change is
irreversible.

4. Mixing of sugar in water is
a change.

1. Lungs receive deoxygenated blood

SR e 2

05 Marks

2 dB 2 e Yl

2. Melting of ice is change. olle s S5 e o

5. Melting of wax is change.

SECTION-V (C) Subject: SOCIAL STUDIES

Max Marks: 15

Q. No. 1 Choose the correct answers of the following:

1. The ruler of Mauryan empire is :

a. Chandragupta
b. Akash Gupta
C. Ashoka
d. None of these
2. Ashoka was the son of :
a. Bindusara
b. Chandragupta
c. Akash Gupta
d. None of these
3. Ashoka became king around ____ BC.
a. 273
b. 274
C. 275
d. None of these
4. Cyrus was the kind of :
a. Persia
b. Afghanistan
C. India
d. None of these
5 Muslims conquered Spain during
dynasty :
a. Umayyad
b. Abbasid
C. Mughal
d. None of these
6. Umayyad dynasty was followed by:
a. Abbasid
b. Mughal
c. Sayed
d. None of these
7. Ottoman Empire was established by:
a. Usman
b. Akbar
C. Ali
d. None of these
8. The number ‘0’ was discovered by:
a. Al Khuwarzmi
b. Alberuni
C. Ibn-e-Sina
d. None of these
9. Pakistan has ....... constitution: a.
Written
b. Un written
C. Both A& B
d. None of these
10. England has ....... Constitution:
a. Written
b. Un written
C. Both A& B
d. None of these

-é?é’:' (u,a'ioﬁ/’/) 1/.-;()'}’
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Q.No.2 Fill in the blanks:

S de 2

1. is the largest

irrigation system of the world.

2. is the capital city of
India.

3. is the capital city of

Iran.

4, is the largest river of
Pakistan.

5. is the largest

province of Pakistan by population.
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SECTION-V (D) Subject: GENERAL KNOWLEDGE

Max Marks: 05

Q. No. 1 Choose the correct answers of the following:

1

of Pakistan:

4

Pakistan by area:

is the current Prime Minister

Imran Khan
Nawaz Sharif
Shahbaz Sharif
Dr. Arif Alvi
current president of Pakistan

cooTpe

Dr. Arif Alvi
Asif Ali Zardari
Shahbaz Sharif
Murad Ali Shah

is the capital of Afghanistan:
Kabul
Dhaka
Ghazni
Kandhar

is the largest province of

oo

oo o

Punjab
Sindh
Balochistan
KPK

is the capital of KPK:
Quetta
Naushera
Peshawar
Sawat

oooe
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